NS, (HWUliadi -20 15

5. &1 53" cone : WQO6
UYTI T HHIF
BOOKLET NO.
Tﬁ‘iﬁﬁm—ﬂ TR 797 : 100
¥:1(w@)aw | g, dfemud o faware 3 THTT T : 100

{1

@

3
(@)

()

©®

rH arsRis :l

T wyubrRETst s fafim FeRh 9w divdas € vt s wren s

T '.lﬂ
T TETYEahd 100 e TR SRa. SHSanH FET Sw feferary qeard FETET o vegieaend bel

=1 ferar sicd o ST Wk ’
TSI TG HHich e ITFHa fafire S Sweafererte geAyHTo 7 famwan g e
(37) T WY RIS T WY 4 At S gRiael ST ®@ 1, 2, 3 i1 4 3@ FiE eSS aea. ™

bR 3Gt wald 473 Ia0aT HHE SRUTHAIE TIIGHT AT TRIFHaK TE SIS, TN THR
ST SATRAIE T HH] a4 Halda G661 RHR STEifhd e g {ac S5 T4t i wat,
TTETAT e wTmaT WY gieuT area, T a1 wEe 99 T 4.

(%) e = FaEret St SRR Farett urenn fafia e . @ fawarE weis Wy wet atist
FUSH T ST STAUATE 36 M, TTHS U [ohat TS WFTHe TEUTegias et
ar=g waTges fawmdr fmtor stearsi vl steaTs, e defus ues mafeh wdde vyt
GQIERREE

T WY TAF O . AR H9 Tl Ia e, Heod SR €10 ARG ATl 5aTl a3 e foqe

A Y TISAEE. SHAT Y9 HISfest 9% 3T 70 THETal WoH Felv] JTeand @ay ae o Trenee e

T WL 3.

JAIAHA TRl TR Fo I B8l JOR . TR Ho0 S0 EIe ToIH TR RE4H o q9RS H0R .

T FHAAE. AT AT ST ArSiacean Yedeh WY ehisal IMUAET T yyard W07 q

THAGTERTAT GAATa—T & W 395 93

YT ETT IS THEETS JIRUars 2097 399 38§ 3% Woudd Aet gy st
wa/wdl, T&aT Hay qvgfasdie ST 9" ®IVTETE @R Teaal a7 Hueasigqu
IV A Thaul, T8 TRAE 0T 3 TR ST TN Fel FIOT SAFAAT FTHAT
W &P ' Thgined gom=ar yEar wfaay wvaEtEaan siutae-g2" aie

AAETHR 0" Yoo HIeTel atdEiTan SHal wvald 9396 d ol =Iaal haTS U

Fui=aT SRETETET 0T/ (AT U U g TRueAT 2T RTEE U EEe.

TET T WEAUTohwIET faten Hoe G WOt & WYTGiETET SHigauuT et ' gl
T[T 3T AW AU Sl FEF=AT HHERGEh!, 70w Wgen Wagaageist e
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1. ‘et (fe de sheage e wminfers wgHw ofs ford) = s A9
T 3172,
@ ™ 2 5= (3) TR (4) s

The National Institute of Pharmaceutical Education and Research (NIPER} is to be
established in

(1) Pune (2) Mumbai (3) Nagpur (4) Amaravati

2. ‘'SPt } e (Tafaw dwie SHae) woe e fafee SR 2

(1) e &6 @) . faaEr e
(3) WS (4) A g
The book ‘Ooniki” (collection of various articles) is written by which Governor ?
(1) Kalyan Singh (2) C. Vidyasagar Rao
(3) Ram Naik (4) Dropadi Murmu
3. I gieede W OEG A aft (AR slan faem Feen) ot waren 9
FUATE T
(1) #eF () et (3) IRE (4) wfEs

The UNESCO Institute for Life long Learning was established in __

{1) London (2) Hamburg (3) Paris (4) Madrid

4. 'w@Ell’ F g?
(1) & () WviEE (3) Tk IE @) g

What is ‘Kalwari’ ?

(1) Warship (2) Submarine (3) SAARC satellite (4) Telescope

FHoeAT HWIMTAETE! AN /SPACE FOR ROUGH WORK
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wreite fasam fawmm =

() ‘3@ VW Areria | TR Boars fEAE T4 18 anfor wwe a9 40 9§ IR

(b) ‘wuE T gen fawn e @ o Sefite e aueer 99 w@edw 22 'S fEm
IO Haes T 12 = A g faevi s,

() ‘U =l S S famn e qn wsea duite fRen srowrd: 5oy deamm 2 2 wrEr fam
HREI 18-50 TR SfFd T 330 = TféE g e o7,

it 9

(1) faum (a) anfn (b) TR, () TR

2) faurt (b) et (o) FAT, () IHH.

(3) Toum (a) 300 () TR, (b) .

(4) Td faum Sl omdE.

Consider the following statements :

(a) The minimum age to join ‘Atal Pension Yojana' is 18 years and raximum age is 40
years.

(b} “Pradhan Mantri Suraksha Bima Yojana’ is to cover both natural and accidental
death risk of T 2 lakh for a premium of just T 12 per year.

(c} ‘Pradhan Mantri Jeevan [yoti Bima Yojana' is to cover both natural and accidental
death risk of ¥ 2 lakh at premium of ¥ 330 per year for the age group of 18-50.

Answer Options :

(1) statements (a) and (b) are correct, (c) is false.
(2) statements {(b) and (c) are correct, {a} is false.
(3) statements (a) and (c) are correct, (b) is false.
(4) All statements are correct.

TR ¢ ATER STEY W A1 SIS WiE et o faus g a1 ?
(1) o=t Swon wiavsawegT 1 9 2015 U9 HI0EE ST,

(2) AT TheEEA FHEUT UE EER S0 HEGEIE .

(3) 3SR &a:9 AYS Ty Mo I U wE .

(4) I FNER AT FIAE M TAF oY I

Which one of the following statement is false about the "Aamdar Adarsh Gram Yojana' of
Maharashira ?

(1) Tt was declared by the Council of Ministers on 15t May 2015.

(2) Minimum population of the village should be one thousand.

(3) MLA/MLC cannot adopt his own or wife’s native village.

(4) The MLAs/MILCs of Mumbai can adopt any village of the state.

FHeeT SIS W00 /SPACE FOR ROUGH WORK
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7, SIS S
‘Af B
(a) WTTHINTE (@ g
(b) T (ii)  wia AT
() TFE (iit) S AL
(d) s=m (iv) TS g
At

@ (B () (@)
1) @) @v) @ ()
@ @@ (v) @ @
@) (v) @) @ ()
(4 @(v) Gu) @) @
Match the pairs :

‘p? R
{a) Microsoft {iy Sunder Pichai

{b) Nokia (ii) Shantanu Narayan
() Google (iii) Satya Nadela

(d) Adobe (iv) Rajiv Suri

Answer Options :
(@ (b} () (d)
(1) @) Gv) @ o
(2) (i) Gv) @) Q)
(@) (v} @) @
(4) (v) @) ()

8. ' W Tyarmed’ v e YN A YIS A ?

(1) g (2) wr (3) = () TR
Which city won the first prize in ‘Swachha Bharat Abhiyan’ (Clean India Campaign) ?
(1) Navi Mumbai (2) Kochi (3) Mhaisore (4) Gangtok
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9,

AT el SV T[98 = 18 ?

(1) FERTEF AU o] AE’ 9§ T FauRas BUF Sifed a0 18,

(2) T T 71 9 919 He@r dada urard e 8.
(3) TRATE T 'U5d GRS SO LI Uieel I ot ST

(4) < AT Faw Rl GIYTH "7 PG e,

Which one of the following statement is not correct ?

(1) Maharashtra has officially declared ‘B.ue Mormeon’ as a state butterfly.

(2)  Decision in this regard was taken in the state Wildlife Board meeting.

(3} Maharashtra became the first state in the country to have a state butterfly.

(4) Blue Mormon is only found in the Western Ghats of Maharashtra.

10,

wieEeh] ST I et g 7
(a) oRIdE TIT A FT AT FETET WAl s e o,

(b)  HId AIHUET AT HEEATE] Fae arat o WA et Wes (RAW) Tiee! atfyeprt
EHECH

) o 3gH FMY R H9E® (Aviation Research Centre) YR H1H TRE g0

wgiEt I

1) (@ 2 3 (© (4) EEIRT o T
Which one of the following statements is incorrect ?

(a) Arvind Saxena has been selected as a member of the UPSC.

(b} He is the first officer of RAW selected as a member of the UPSC,

(c) He was working as a Director of the Aviation Research Centre.

Answer Options :

() (a) (2} (3} (o) (4) None of the above

Fell HTATAET I /SPACE FOR ROUGH WORK
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11.  FICATE T2 T T% 7 HHI T e -

w | Y8
SEEAEAE

—_—

| | T
o |3 e J;ﬁ ® ,é%i @ | Iz

Select the option that does not belong to either group.

o | 2B M-
(8) y %Z’f‘?:?q

-l s ¢
OREEE o¥i e ;ﬁ 6 | x| @ l;;

12.  FufdT (Same Jo[lt SO S JiEsT <3 ShiowT 2
(1) ¥ (2) oEEET (3) IRwEH (4) e

Which country is the first in the World te approve of a homosexual marriage ?

.

\
|

!

(1) Ireland (2) Iceland (3)  Israel (4) America
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13. WX+ TEU SANTER
— WU TN
+ 1%'131?;\ UTsh R
X TR SO
L(16+4)+ (8- X (12+10) = ?
(1) 30 (2) 40 3) 26 4y 24
If + means subtraction
— means division
+ means multiplication
* means addition.
S{le+4) - (B-4)x(12+10)= ?
(1} 30 (2) 40 (3) 26 4y 24
14. A, B3 C 1 faitst el @ei $uor=h fia Trevamn T &1 s, iR S

RIS E el Ik i el e i

A Bﬁwmﬁﬁmﬁé'

B: AT PV UIEdr # yeE diied,

C: B WA 90 BISar 4 qed.

% TR wde B o T9da ® $Y arsu e/ s oY HO Tary fae,
Tgigt 3

(1) %HC (2) Af=B

(3) A ¥fu B fuET (4) B

Some one of the three, A, B and C definitely committed a crime of dismantling a compound
wall. Investigator got the following information from them.

A: 1saw that B dismantling the compound wall.
B: I personally saw A dismantling the compound wall.
C: Isaw B pounding the wall with 2 hammer.

If all of them never speak the truth, select the option that indicates person/persons
responsible for dismantling the compourd wall.

Answer Options :
(1) only C (2) AorB
(3) A and B together (4) onlyB

THeeAT MIETEE 00 /SPACE FOR ROUGH WORK
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15. 2001 d 2011 91 THHE ALRILTES HIveaT TSogna AR Jre=n g Gaius ewat 7
(1) g (2) 3 =m (4) T
In which district of Maharashtra the maximum growth rate of population in the decade
2001 to 2011 is seen ?
(1) Mumbai (2) Nasik (3) Thane () Nagpur
16. fousat=n fasm e frerel
o ¥ o
1 Wk o e 3) ?& ST
Select the odd group of dots.
: oo
n %% o .:“&, o) ?& 0 g
17. eI T419 HITER ghe (LM L. ardie FI0d a6 THAH BEds 9 (A #1d 35 ?

ST

(1) @ (0) (d) (2)  {b). (0, (d) (3) {a) (&) (e & © W@

Following alternatives represent paper pieces. Which three of them can together form a
square ?

() (b} ©} (d} (e)

1) @) {0, (d) 2y (b), () {d) (3) (&), (d). (&) ) {9 (d) (¢

AT HIATEISl AT /SPACE FOR ROUGH WORK
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18. HIEd WS SOOA o W 9vieedd e 9ed Ao B Graee 3. o foet

& b

(1) 9 2y 2 Gy 3 4) 6

Accompanying image shows walking track of a person starting from his house to the
prayerhall. Select the option that indicates the number of right turns he had taken to
reach the place.

(t 9 (2) 2 3 3 4y 6

19,  wyAfE=gren Wl $io 95e ?
A3Z, E8Y,T18X, 7
(1) N36Y () J38Z (3) M38W 4) M36W
What will come in place of the question mark ?
A3Z,ESY, 118X, __2___

(1) N36Y. (2) 1382 (3) M38W (4) M36W

TR TWINHTE! A /SPACE FOR ROUGH WORK
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20, M¥B 99 agd. N & C = gerit ome. C &€ M <1 ot ome. B AN Wt T8 += ?
(1) 1] AT aTen (2) HTHIET HrEE
(3) TAvw =@ gl (4) wrET T S
M is father of B. N is daughter of C. C is daughter of M. How is B related to N ?
(1) Paternal uncle or aunt {2) Maternal uncle or aunt
{3) Cousin (4) Nephew or niece
21. Wil woren farRms wrmiady e St ?
(2) AR k) T () wsra
(d) e (@ B® O EER
g I
1) () &) (2 () () () 3 @@ E6H @ @ @O
In which of the following districts shifting cultivation is practised ?
(a) Chandrapur (b} Beed {c} Bhandara
(d) Jalana {¢) Thane {(fy Solapur
Answer Options :
(1 (@, G} () @) (b) (0) (e) G) @ @6 @ @ e
22, 2011 SN TAHER S0 $9H OiRHETE! ST STV f9eg FIvR 2

(1) TS, I, AT, I, Gag (ITTR), qo
(2) TS, TR, T, S, Yok, Horg (ITTR)
(3) TETE, AME, HeE, GIE (ITAT), 3, G0
(4) T (STR), TFE, GO, I, T, AR

As per the 2011 census, arrange the following districts in ascending order of their density
of population ?

{1) Raigad, Pune, Nagpur, Thane, Mumbai (Suburb.}, Mumbai
(2) Raigad, Nagpur, Pune, Thane, Mumbai, Mumbai (suburb.)
(3) Raigad, Nagpur, Mumbai, Mumbai (suburb.}, Thane, Pune
(4) Mumbai (suburb.), Mumbai, Pune, Thane, Raigad, Nagpur

THeeAT WIFHIGE SN /SPACE FOR ROUGH WORK
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23. diad fooiea TR TR Srafacien fSog St |
| gz- L - .,
Fort = T e
r'\'v_.,l i\‘_\.
7 i }
|. .‘). ,< ) /ik‘&'
; y i |
P
i\q ’;é
(1) Tl (2) e (3) oFhIe (4) SR
Identify the district of Maharashtra given in the following map.
;\jﬁ A IH}-.'; = el Lo I
7 PRI
| ] b
T
(1) Parbhani (2} Hingoli {3) Akola (4}  Washim
24, TIUQ TR G sfor I A I
(1) HIER - FSiB (2)  HICE - YOS
(3) SRR - W (4} IR - ST
Hanumante Ghat is between and

(1) Kolhapur - Kudal

(3) Kolhapur - Ratnagiri

(2) Kolhapur - Panaji

{4 Kolhapur - Belgaum

THeedl ThIVTHE AT /SPACE FOR ROUGH WORK
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25. QIEAIE] S faue TR 3R ?
(a) TS Few® 12 9F e
(b) 0% WUTReER fATIA 48 AH STRA
(c) I YEEEE fawerd 7 faed g
(d) TR TR fFurmE gerd siiimag T fagrma geaia W e e
watar 3
(1) e (a) S0f (b) @) a9 (), (b) ST (o)
(3) T8I (@) &1 (c) (4) AU (b), (o) s (d)
Which of the following statements are not true ?
{a) There are 12 Talukas in Raigad district.
(p) There are 48 Talukas in Pune administrative division.
() | . are 7 districts in Konkan administrative division.
bad administrative division has the highest number of districts compared
@ tzhgtﬁ:: ?riig::mish*ative divisions.
Answer Options :
(1) Statement {a) and (b) (2) Statements {a), (b) and ()
(3) Statement (a) and (<) (4) Statements (b}, (c) and (d)
e
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26, ‘¥ T R e sre wd g T e L S e 8 w1 e ?

(1) f5.7 ¥, Fesrgy (2) &L sAiaeHt, dgw

(3) € HHH, TR (4) e FE,

“Though I am born as a Hindu, I will not die as a Hindu”. Who made this statement and
from where ?

(1) V.R. Shinde, Kolhapur (2) Dr. Ambedkar, Yewala

(3) Dr. Ambedkar, Nagpur (4} Mahatma Phule, Pune
27. 1 HE QS AT HeH T .

(1) SRS a2 (2) TR Mg

(3) HIHE g (4) UwdEE Y9

was known as the founder of the Bombay Stock Exchange.
(1) Jamshetji Tata (2) Morarji Gokuldas
(3) Kowasji Davar {4) Premchand Roychand
\

28. oo fammdvswt T FftT=a et ﬁm —ry

(1) fwgE (2) R Frem

(3) T @) Feer

University 0:‘: gﬁﬂﬁ;as founded as a result of the recommendation of the report of

(1) Charls Wood (2)  Bennet Coleman

(3) Macaulay @) Saddler

HE HAETES AN /SPACE FOR ROUGH WORK
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29. et faels T @

(1) VR AR (2) iea g T

(3) WM A S wnimd (4) TRETE dR AE HAd

Pick out the odd crganisation fxom the following :

(1) Share Bazaar {(2) Cotton Brokers’ Association

(3) Bombay Chamber of Commerce (4) Marwari Chamber of Commerce

30, i@ IR ) ST TGO S TUOl ROTS Tl SN STt Ak foram g ?
(1) 2 weRd ATt (2) HE S B
(3) @ foEeTg (4) =M gAFT AEEl

Who from amongst the following persons said that the Puranas were the writings of
selfish and ignorant men ?

(1} Dr. Babasaheb Ambedkar {2) Mahatma Jyotiba Phule

(3) Swami Vivekananda (4} Swami Dayananda Saraswati

31, A ARGIHA RA UF SEW, TUSaK], gHe, e, TR 3R 2
RET e sifvd e,

(1) 13-1-1976 2y 3-1-1977 (3) 31-1-1978 4 1-3-1977

India was declared as a sovereign, socialist, secular, democratic, republic by the Indian
Constitution with effect from _

(1) 13-1-1976 (2) 3-1-1977 3) 31-1-1978 4) 1-3-1977

T hTATATS! WO /SPACE FOR ROUGH WORK
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32, WA weqEeAdre wifire s @i quee aren S1sm e -

H

( YRAT TrET e TR )
(a) WmE iR
(b) A Uiy
() 3ned gffae
(d) =a g
ERipis

(a) ) (© (d)
1 @) @ 0 )
(2) () @) @) @
(3 W h (v) @)
4 @ @ ) ({v)

)

fi)

g
(auefier )
ST T
S GURM HREET

(i) F7 M0 T e Ay
(iv) TRAewd HRR, Afr s serEe

Match the schedules of Indian Constitution and the Content :

(Schedule of Indian Constitution)

A

Seventh Schedule

Ninth Schedule
Eighth Schedule

Twelfth Schedule

Answer options :

(a)
(i)
(iv)
(1)

(i1)

(b)
ti)
(1it)
(i)
()

{c)
()
(1)
(v}
(i)

(d)
()
(i)

(i)
{iv)

&
(i)
(i)

(iv)

B
(Content)
Official language
Land Reforms Act

Distribution of powers between Center and
State

Powers, Authority and Responsibilities of
the Municipal Councils

HoAT HMIWTHTS ST /SPACE FOR ROUGH WORK
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33. 9 OTER FEE), 1935 TV TG Foredl B3 viared fauE aiees) afeel 99120 99 1937
Ut R
(1) H @ (8) TR (4)  SfmER
The first meeting of the Legislative Council of Bombay Province constituted under the
Government of India Act, 1935 was held at on 20 July 1937.
(1) Mumbai (2) Pune (3) Nagpur (4) Aurangabad
34. WPIERI® dealen WFOTAIE HIO horH AIed JAie doel ] Aoy Hefim e ?
(1) e 41 (2} HOIH 44 (3) el 47 (4) hTH 38
Which article in the Chapter of Directive Principles, is related to prohibition of the
consumption of intoxicating drinks ?
(1) Article 41 (2)  Article 44 (3) Article 47 (4} Article 38
35. WS Fiven oI faueuieg 38 ?
(1) == FHR (2)
(3) TR (4)  TTEHE
Which of the following states has a Legislative Council ?
(1) Jammu and Kashmir (2) Goa
(3) Manipur (4) Rajasthan
36. TEH AENE=AT e Jaia fSumTn FIvE faue e SR 2

(a) i AU TSRO HEd F o USEEt 9l HaHEE g S o
(b) AR TR §F FOATE! KAl FHE L,

() =R S ST S P R <.

(d) v daTaE FERHESHT FagH FHITITHE! a9e AR,

gt S ;

1) @afE @ mEve (¢ @ @ (€
Which of the following statements about the Independent Judiciary are wrong ?

(&) Judges are appointed by the President and the qualification therefor are laid down
in the Constitution.

(b) The process of removing the judges from their posts is difficult.

() Salary of the judges is charged upon the Consolidated Fund of India.
(d) There is a provision to vote in Parliament on their salary.

Answer options :

() (3) and (b) (2) (b) and () (3) (@) and (c) (4} ()

FHEEAT THIAMES AP /SPACE FOR ROUGH WORK
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37. I -3 E e - @ A Sear g

-3 g - &

( faumwsT) ( TEET He)
(a) 3T wew () 243
(b)  STEUTEA FEW (i) 126
{c) o™ (i) 294
(d) feeR (iv) &0
TEidt 39T

@ ® (© @
M v @ o
2 @) v @ 6
@ (v G O )
@) i) ) v
Match List - A with List - B :

List- A List - B
(Assembly) (Seats)
(a) Andhra Pradesh () 243
(b)  Arunachal Pradesh (i) 126
(¢} Assam (i) 294
(d) Bihar {iv) 60

Answer options :

@ (v (9 ()
(B Gv) G (i) @)
(2} @) (v @ 0
3 v () @ @
@ (@D ) (iv) [

38. FEMET UMY IR 1950 HEl MRAE I S uiiite el o
.
(1) 8 (2) 12 3) 9 (4 14
Initially i.e. in January 1950, there were _ languages in the eighth schedule of
the Indian Constitution.
1) 8 (2) 12 3y 9 4 14

THST HIETETEN A /SPACE FOR ROUGH WORK
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39. 20 WrE 2015 =1 HFA FRyam weRre fSETReEdS Tpon 78 WeerE agfe v
WIEETSH TR

[ECEEY
A U e
(1) 2821,12,7 {2} 20,26 8 11 (3) 12,28,7,21 (4 22,27,10, 8

Out of 78 members in the Maharashtra Legislative Council belong to Bharatiya
Janata Partv ___ __ belong to Nationalist Congress Party belong to Shiv
Sena and _ __ are from Indian National Congress as per the official list of
20 March, 2015.

1) 28,21,12,7  (2) 20,268 11 (3 1228721 (4 22,2710, 8

40. @elia four foemm =0 .
(a) 1976 TT142 T FEAGEE ARG AT Hded Geged HHIfqE FI0AM L.
(b) 2002 WY 86 BT TEAIGEE HoIA FecATl Al AgA AHY [ AT,
() TR Taeai= RIERE T S Het g,

FHTIFT FTOET Foum TUET 23784 ?
(1) & (a) 2 (b) {2 R () ()
(3) R (a) A (¢) 4 (@), (&) 3 ()

Consider the following statements :

(a} The Fundamental Duties of citizens were added to the Constitution by
the 42" amendment in 1976.

(b} Fundamental Duties were increased to eleven by the 86 amendment in 2002.
{c} The Fundamental Duties were recommended by the Santhanam Committee.
Which of the statements given above are correct 7

{1) Only (a) and (b) (2)  Only {b) and (<)

(3) Only (&) and {c) (1) f(a), (b} and (c}

HeAT TGS ST /SPACE FOR ROUGH WORK
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11,

wifed = stfyepr ARITTaE, 2005 o8 fhan Tl Foiedr FIER! ATl gqu@ hoedl
fehar oA SARYY orEcedl P! MKiuEs 91 SR Sgediaey I, W fFar 99
FRAE, | EFATA  herdl Y o w0 AU AL

(1) 21 (2) 22 3 23 (4) 24(1)

No suit, prosecution or other Jegal proceeding shall lie against any person for anything
which is done in good faith or is intended to be done as per the section of the
Right to Information Act, 2005 or any rule made there under.

1 21 @ 22 3) 23 4)  24(1)

42,

2005 =N Wifedt SATUhRr=n HrEET Gt Do e a2

(a) W TieRHorhIea HAMY YREHAT o7 FenagRi=t vl e wed f AR wrE.
(b) STAEIRY AT =,

(c) HEIAT Savds AfEd! Tavameada Wy FHLo.

(d) Tafere wfedrsraa o g,

U'ﬂf'ﬂ"]'?il"{':
(1) (o) =0fo (d) (2)  (b), (c) 3nfOT (d)
(3) (d) wI (4) 3w e

Which qf the following is not the object of Right to Information Act, 2005 ?

(a) Topromote transparency and accountability in the 1.«.rc:rkinér of every public authority.
(b) To arrest corruption.

() Make provisions for furnishing desired Information to the citizens.

(d} To maintain secrecy of certain Information.

Answer options :

(1) () and (d) (2) (b, (c) and (d)

{3) (d)only (4)  All are its objects
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43. T e wied! st e Eacic)

(1) T (@ A (@) T (4) FETA

The State Chief Information Commissioner is appointed by :

(1) President‘ (2) Prime Minister (3} Governor (4) Chief Minister
44, TSURT HIUE A SRS 3TRA 2

(a) WiEdEl sfaer Afufas s F=FR Usgr ar] TEL.
{b) T fufaw @i @ e

Tafdt 39T -

(1) (a) 31 TR ST (b) T SR,

(2)  (a) S TR HT (b) et R,

(3) S I SR TR

(4) T TR g STRA.

Which of the following statements are true ?

(a) Right to Information Act is not applicable to the state of Jammu and Kashmir.

(b) The whole Act came into force immediately.
Answer options :

(1} Statement {a) is true and (b) is false.

{(2) Statement (a)} is false and (b) is true.

{3) Both statements are true.

(4) Both statements are false.
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45. Wifedl SAfowRrS FHTEHTTT ®IGEE TTI gEe] @ df 5T FGT SNUFR FIowen FRa ?
(1) et mfedT St (2) &% W@ER
(3) @am sty (4) @S GOl

Who has the power to deal with the difficulties in implementing the pravisions of the
Right to Information Act ?

(1} Central Information Commission (2) Central Government

(3) Competent Authority {4) President of India

46. @ faur v
(a) P & oo ol AR
(b) el & Fds s dEd S AT
() iFrEd! 7 faar &= 3ot o,

Tt I ¢

(1) 199 (2) 1M1 (b) TR AR

) faum () aafw (o) ey a1k,

(3) oA (b) =Mt (c) sI=R 3ATe.

(4) W fagm s@ay s,

Observe the following statements,

{a} Bhima is a tributary of river Krishna.

(b} Indrayani is a right bank tributary of the river Bhima.
(c) Bhagavati is a tributary of the river Sina.
Answer Options :

{1) Statement (a) and (b) are correct

(2} Statement (a) and (c) are correct

(3} Statement {b) and (c) are correct

{4) Al statements are correct
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47, € AT NG SRS s A Hifsdl § daae fasm anftr gevgme 9
Wigdt - daeH AAEaren 9gE YhedrE i e, @ e wigd @ 999 (TRvEeT)
e e, srradE, SefEle o s weEmEE AomEE gor fafrEmat w9 S9.

(1) s anfe ) s ok o
(3) o afEH (4) forem et

this organization has been promoted by Department of Electronics and
Information Technology, MCIT, Govt. of India. The objective of this organization is to
bring applications of ICT like Healthcare, Education, Livelihood to a common man.

{1) Sampark Vahini {2) Media Asia Lab

(3} Gyan Vahini (4} Vidya Vahini

48. FTITSH TEIANTET SR HEA™ SITORE 39! 2

(1) B=wd (2) =EE fmi (g fawm P
(3) (1) M (2) (4) TOATR TS @
The threat of abuse on internet is mainly from ;
(1) Hackers (2) Virus creators
(3) (1) and (2) (4) None of the above
49, TS B H9 YEE dRcd TR 4y g TRV
(1) e e () 3 - vedta
¢) -7 4 TrR-3I-T
means official gazette published in electronic form,
(1) Electronic Gazette 2) E-Publish
(3) e-news (4) Gazette - E - du
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50.

24 A

TIEH FI a9 ST A 7

(1) gstes “AEETEE 24 Hr€, 2015 TS Faen HROHIT TS HIGT T 391 TG TERN
THOM GIeWeTdl ATHFRNE Heidh! daUEea Jhedrd ®al 372 FLoarEl iR
feeten 2.

(2) TETER [N Aedt GAFA FEUE HAT 66A IR ST,

(3) Waley TR 74 I TEeel ®i, 66A < TG & TIRLT0 WY 9 STV @S
YA ToRhTaE SO FIRT ST,

(4) T AERTEN HIiEE TAH FTEAE BT 69A M 79 91 Y OF TS G Higd
T STIRA.

Which one of the following statemenrs is not correct ?

(1) The Supreme Court on March 24, 2015 struck down a provision in cyber law which
provides power to arrest a person for posting allegedly offensive content on
websites.

(2) The Supreme Court has scrapped Section 66A of the Information Technology Act.

(3) The Supreme Court also said that the provision of Section 66A clearly affects the
fundamental right to freedom of speech and expression.

(4) The Supreme Court has also struck down two other provisions - Section 69A and 79
of the IT Act.

51.

¥ U A T IR SISVE HeldemEie Y e S0, § Z 39.50 A
THTUEE ATHIE 278, & YN0 T - SieREkTaele Mifsd] Sem-YSMMET v e 59
AT,

(1) =9 (€, T, 39.7H) () F(THUT,)
(3) T (4 T

_is an internet search tool that is based on the Z 39.50 standard. This standard
describes a protocol or set of rules, for computer-to-comnputer information retrieval.

(1) WAIS (2) WAN
{(3) GOOGLE (4) YAHOO
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52, Wiigd=al UG FUiUA AT 9 R F14 WIS 9N 7

(1) S=RHYA 99 HEe (2) YEIE 9 WR

3y wdifem 4y IOt THEE T

The web site dedicated for internet searching by the user is called as :
(1) Information web site (2) Personal web site

(3) Search engine (4) None of the above

53, Fetied ' FATYFA AR’ @ S wivr e FAT e sl /

(1) &% (HACKING) (2) ®H (SPAM)
(3) T (SPOOFING) (4) <9 (TRASH)
An unauthorised access to internet is called as :

(1) HACKING (2) SPAM

(3) SPOOFING {4 TRASH

54. 7.9RUA (URL) a1 A& @A T e &i1a gk 7

(1) Yfeede quid eidet (2) Fffeede TR cicher

@) gf=dd AW i {(4) gAaee TeleA dlshyH

The long form of the term URL is :

(1) Universal Resource Locator (2) Universal Reference Location
(3) Universal Resource Logic (4) United Relation Location

55. it ool wEiel SEiad (hal TRl TdaliAe Aleul AR e A WiEd &3 9% 14
AR A qEdas fheT g YU AW F, o safaden REr € faumre wieen
FAAIER e A% e ?

(1) ST 175 (2) 192 (3) wTH 173 (4) T 204

this section of Indian Penal Code seeks to punish a person for destroying a
document or an electronic record so that it can not be produced in a court of law as
evidence.

{1} Section 175 (2) Section 192 (3) Section 173 (4) Section 204
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56. TERN fUuEE GO < aurgEyl wade i giead < 9ure SgE SETm
T T TEATH oid AT S 98 S TEE w6 A wel @ @ 9IRS SeiEE w5

(1) =R FeasdiA FOEtHa ¢ fTiaE 771 I AT TIR SeH HE AagHTHIS!
L el W,

(2) ToIUIET N S9N fAVTEE Far<T TR HF Wi,
(3) ATEHYET/ A HUTS] Ao g maren a9 $% [,
(4) Touos wn safuayrE @i 3eq = @ SifvayEe Jeam faeud 3he .

In case of differences between the two Houses of Parliament over a bill, a joint session of
the two Houses is held where in decision is taken by a majority vote. In case of a tie there,
how is the same resolved ?

(1) The bill is again submitted to vote of the two houses at the joint sitting after a gap of
four weeks.

(2) The Chairman of the Rajya - Sabha can make use of his casting vote.
(3) The Speaker of the Lok - Sabha can make use of his casting vote.

(4)  The bill is shelved for the session and taken up for consideration at the next session
afresh.

57. AR Toaaesraa HRHia Wl [qeiel Sivd] (qUr Wed aea ?
(a) HHEE HEIAT IR SHEER 37,
(b) TIE T W Sl SOl Eal.
(c) HATHMIRT 9 FEHW v wwsd 5w,
(d) STCTHEIHINE! AAHeRI TEid A SHa.
a3
1) @OFEQ @ @I @) G @ )
Which of the following statements are true in the context of the Indian Political System ?
(a) The Council of Ministers is collectively responsible to the Parliament.
(b) Each minister is not individually answerable to the Parliament.
(¢) The Prime Minister has the freedom to choose his colleagues.
{d} There are reserved seats for minorities in the Council of Ministers

Answer options :
(1) (@ (band () (2} (a)and () (3) (b) and (d) (4) (b}, (¢) and (d)
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58. WS SIS e :
® =
(FHFH ) ( Aagitet )
(a) heTH - 84 (i) YTIEEeATE] ST
(b) T - 93 Gi)y HEH HYE a3%
(c) A - 108 (i) GHEAT AT /ST
(d) FEH - 110 (iv) HEE wewwrd] qrdl
it I
(@) () () (d
W @ @ G )
2 Gvy (i) G) (0
(3) (@) () @v) (i)
4y @ v @ (i)
Match the following Pairs :
A B
(Articles) (Particular)
(a) Article - 84 (1} Definition of Money Bill
(b)  Article - 93 (i) Joint Session of Parliament
(c) Article - 108 (iiiy Speaker/Dy. Speaker of Loksabha
{(d) Article - 110 (iv) Qualification of the membership of Parliament
Answer opfions :
(@ (b (o (d
o
(@) Gv) (i) () @)
(3} (u) () (v) (i)
4 @G

1 iy (i) ()

2

—

)
)

—

v) (i) ()
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59.

60.

(1) ST e 9 Gt T, I90R 5 9%
(2) HHWE Y 9 Teed

(3) GUE

(4) feom

Which one of the following is in the ‘Concurrent List’ in the Constitution of India ?

{1) Social Security and Social Insurance, Employment and unemployment
{2)  Public health and sanitation

{3y Tolls

(4) Insurance

A WidwER Weeas! S fqum s s ?

(a) TG o fa=amt Hatya T,

by Fo=mg 22 weE SEdw.

) foo o= wudy viatiae ugdiTar e aviugl Maed Awm.

(d) W {0 AR CEE dvy Rd e FmE.

T 39

(1} (a) (b)) (2 @ © (@ 3) (o) (d) 4 {a
Which of the following statements regarding Estimates Committee are correct ?
(a) No member of the Rajya Sabha is associated with it,

{b) Tt has 22 members.

{¢) Its members are elected in accordance with the system of proportional representation
for a period of one year.

(d) The Speaker nominates one of its members to be its Chairman.

Answer options :

M @ () ) @ (@ k) (©) 3 (o) ) 4 @ (@
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61. =Erem qEwh s stausEd g e S aEEt dr g wear wifauie
FYFR HIoTE A6 ?
(1) warga A" e
(2) FH]
(3) Hagum
() g

Who has the Constitutional right to provide for the adjudication of inter - state river -
water disputes ? :

(1)
(2)
(3)
(4)

The Governors of the concerned states
The Parliament
The Prime Minister

The President

62. T4 E ifufam, 1956 TR dqui o fasmem wrcfiayam we 3

(1)
(2)
(3)
{4)

The States Reorganisation Act, 1956 divided the entire country as follows :

(1)
@
(3)
@)

22 T 0T 9 <hawntead Waw
14 T a1t 6 Hewntea yew
17 T4 311fr 7 St waw
4 YR T

22 States and 9 Union Territories
14 States and 6 Union Territories
17 States and 7 Union Territories

Four categories of states
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63. SIS Tl :
(a) TAr=d QA SEds HTFHRET () Wiyt FevarEr JfrER

(b) I=9 AREHE (i) ToUd AT 9
(c) =EeEH FiEad (iti) TRAS TR

(d) S AT (iv) SrHieaAT=H

Lo il

@ (¢} @ (@@
B @ 0 ()
(2} @y ) @ @)
(3 Gv) (i) () (D)
@ O v G) (i
Match the following :

{a} Exclusive jurisdiction of the Supreme Court (i) Power to issue writs

(b) High Court (i) Inter - State disputes

(¢} Judicial activism (ili) Protection  of  the
Constitution

{d}) Judicial Review (iv} Public interest litigation

Answer options :

fa () (0 (d)
(1) (i) ) Gv) (i)
(2} Gy dv) ) (D)
(3) (v} () (@) @
@ 0 v () )
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64. SmEATrRiE FIOW fart wer o 7

(a) T ST TR T .

(b) Faw foare Faadder wEg FATE ared AfER TR,

(c) ot T g TR,

(d) o Sden IRl H1E.

et I

) @3FEH (2 G, QI (@) (@), b AU @) () (@)

Which of the following statements about the Lok Sabha are true ?

(@) It is free from extra - parliamentary interference

(b) Tt alone has the supreme authority to make federal laws

{c) Itis entirely sovereign

(d) It is accountable to the people

Answer oplions !

1) @and() @ G Qandd () () Band(@ (4} (2 and (d)

65. TETE QAR cAred HiHERE SIER 9as g oe Al ;
(1) T TS v A
(2) TEIAETRG T Fedh FHT
(3) AR THEAAA & S
(4) alw od ggEd
The Chief Minister of a state can get rid of any memberx of his Council of Ministers by :
(1) asking him to tender his resignation.
(2) getting him dismissed tiwough the Governor.

(3) dropping him from the Council by reshuffling the Ministry.
{4)  All of the above methods.
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66. TEudi=n AfusHed G faue faEr o
{a) TR W A= T WA S,
(b) RS 12 WYRAETE gl Tegad! Tenes Afasmd .
) TRUR JEIA TEHF AR GedRTe = GUTERER A9 23 wehard.
(d) TEEH WRSUE TRAH wafiie Hw.
FlwiE! HuE foum SER o ?
() @&mp) ) O @AM @) () (A (d) @) () AW (d)
Consider the following staternents regarding the powers of the President :
(a) The President is the Supreme Commander of the all armed forces.
(b) The President appoints 12 members in the Council of States using his discretion.
(cy The President can address both the houses of Parliament at the beginning of each
session.

(d) The President represents the country in the foreign countries.
Which of the statements given above are correct ?

(1)  (a) and (b) {2) ) (and(d) 3) (a)()and(d) (49 (a)and (d)

67. Taits um@ar fafey Geeainy Tewdi=n e SR e $&1 S 78 Tga Fell
CUEGE
() T AT HOHT SSERIA APYAGW HG YAl HToaren gab 1.
(b) Tgdl TN TS AU ¥HA AL,
(¢) TszwA a1 arfumpmaran aree e fadwmfys sty Fae
(d) WA AT ST YeHn FOay Fidia TEIE,
(€) TN T v ATegH FoR NATYT q2qa o qdiera T OO GHIREE

eIt FIUR ST T 2 |
(1} f(a) () © 2 ®) @ (3) (d) w 4) @ (e

The Supreme Court examined the pardoning power of the President under different cases

and laid down certain principles :

{a) The petitioner for mercy has no right to an oral hearing by the President.

(b} The President cannot examine evidence afresh.

{c} The power is to be exercised by the President at his discretion.

(d) The President is not bound to give reasons for his order.

{e) The President can afford relief not only from a sentence that he regards as unduly
harsh but also from an evident mistake.

Which of the above is/are not correct ?

1y @ b)) 2y () () () (d)only (4 (@) ()

AT HTHTATE JWT /SPACE FOR ROUGH WORK



A 33 W06

68, TIETETHFT HUT A ST FE 7
(a) foum uftes GEHw W@ AfgEn senadEe] T fStaEs 1Y v e fade Ty
¥,
o) 7 fafurgeron <= Quei=n FYa Jem= 99 ey fodd! TE.
() <= fagr oivsms afaem srele b (Gdas faurmyse melas I, @ s faamras

s W fadue 4R 39 enf ga d.
Wf'di’ AL
1) () 2 () 3 (@ (4) el TR

Which one of the following statements is not correct ?

(a) The Legislative Council can detain or delay an ordinary bill for a period of total six
months.

(b} The Constitution does not provide for the mechanism of joint sitting of both the
Houses of State Legislature.

{c) When an ordinary bill, which has originated in the Council and was sent to the
Assembly, is rejected by the Assembly, the bill ends and becomes dead.

Answer options :
Ly (a) (2y (b (3) (¢ {4) None of these

69. MREd WA HIVE alel 91 wesy g st aga ?
(a) T2 STfamsit .
(b) Sl TR
(¢} wfEd urdg €@
(d) TETY FASE
(e) TgyaigR wwaie fadgesE THRRiuaR
‘qﬁ ‘ﬁ'ﬁ' H
(1) (@ (b} () (d) ) b dhe O @ O & @ b)) (e

In india, which of the following provisions are against the Federal system ?
(a) States are not indestructible.

(b) Emergency Provisions.

{c) Al India Services.

{d) Supremacy of the Constitution.

{e) Velo over State Bills by President.

Answer options :

(1} (a) b} (0. d) () b)) (d () @) (@ b)) © @ b)) (e
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Which one of the following statements in respect of the Sheriff of Mumbai is not correct ?

(3) Mumbai and Madras {Chennai) are the only cities in India to have this post.

(4}  The first Sheriff of Mumbai after independence was Mahadeo Laxman Dahanukar.

WQso
70. UL IE FioAT Sredid Weld T HIvG faa ey e ?

(1) =1 Y0 Fremadl U Jur=n o7,

(2)  WeAW AU e WM F9% "Nl WEEe S8,

(3) ¥ 9T IO Fges Hag S Wg (A=) A1 VEUHIET IR

(4) TEEH WAH R g 9fed I TeRd T TFUEK ¢ E.

(1) His tenure of office is one year.

(2)  In order of precedence, the Sheriff ranks just below the Mayor.
71.

TRAE oIl 61 J1 SENEeR) WIEled®! Hivrdl ey Fard ame ?

(a) VAR FAWARI 21 F&H 18 FW HI.

by Trasvm emgaaE! Hem A,

(c) Freaevider TR efe smat sre,

(d) gfaa SRt 9 AIgfaT SeEiaE e

qieTET HvR /R faum/ T S0 TR/ ?

(1) ® (a) @) (o) 3 (b) @) @ M (4 (a) (b))

Which of the following provisions is/are related to the 615 amendment of the Indian
Constitution ?

(a) To reduce the voting age from 21 to 18 years.

(b} To decide the number of election commissioners.

{} To restrict criminals from entering the election process.
(d} Reservation for Scheduled Caste and Scheduled Tribes
Which of the statement/s given above is/are correct ?

(1) Only (a) (2} (a)and (b) (3) f(a) (B and () (4) (a) (b)and (d)
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72.  wEeE AEIER FEF0 Ssvam welertet FivE guc Bl HeE) S oo 2

(1) T HeenR it () Trm wfaEr

(3) e g (4) fodmfarfawEs i

Which of the following committees plays a key role in the exercise of parliamentary control
over the executive ?

(1) Business Advisory Committee (2) Conunittee on Rules

(3) Public Accounts Committee (4) Committee on Privileges

73. @Ek fauriis! Fvn qEa e ?
(1) wiaIr & HErasi 9T SR W T & O §9 3R,

(2) ufgarrara gay 9o st 9’ T SeredE 96y GorE! SEew] wan
Cird

(3) Sfaarerar sEr feaean Sone Yes Hamy Iafauard Hds gaerodrs 3.

(4) WENEE, 99 WA W@ YEAM T wuHes 378 IR,
Which of the following statements is false ?
(1) A Secretariat is a staff agency while department is a Line agency.

(2) Secretariat is concerned with policy-making while department is conceined with
policy execution.

(3) The duty of Directorate is to translate into action the policies which are framed by a
Secretariat.

{4) In Maharashtra, the designation of the head of the Forest Departiment is “Director of
Forests'.
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74. ‘femEd’ € faem W @it wmaigt og ?

(1) < 3 A Jae-gad

(2) FYFUR WA T F

(3) W i wrHiRETE e

4) USREERHS JEEH-gadt

"Himayat' is a special scheme for ;

(1)  Youth of Janunu and Kashmir

(2) Poor families of Naxal affected arcas

(3) For women in Jammu and Kashmir

(4} For youth in Rajasthar

75. Wi faud fagr =

{a) TTuAAE HEH 161 THR TAUETH TEE I HUFR 7.

(b) THEIH G Toar=ar FRENEUYREIA TR0 & %, 98a e 30, &4 50, wfig
F0 3. YN ST SR, AL

(€) Al i TR R R WA FECAT AT e Wb,

(d) TR IFETH WA I FE A AT AW e FUEHR TRIEEr e

Tt I

(1) T&Em @), (b), (c) e (d) THTH.

(2) Taum (o), (d) SR (a), (b) I

(3) THHM (a), (b) TR (), (d) TH=.

(@) T8 (a), (b), (d) TR () THT=.

Consider the following statements :

{a) Under Article 161 of the Constitution, the Governor also possesses the pardoning
power.

(b) Governor can also grant pardors, suspend and commute the sentence of a person
convicted of any offence against state law.

(¢} Both the President and the Governor can pardon sentences inflicted by court martial.

. {d) The President can pardon death sentence while Governor cannot.

Answer opfions ;

(1) Statements {a), (b}, {c) are correct, {d) is false.

{2) Statements (c}, (d} are correct, (a), (b) are false.

(3) Statements (a), (b} are correct, (), (d) are false.

(4) Statements (a), (b), (d) are correct, {c} is false.
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76, QRIS TR AR Hioet g S a3 ?

(1) T A ST =T STAeaa = S 2.

(2) aafaaumﬁmﬁmﬁqﬁaﬁ.

(3) T WA T T§ &Lvardt HErvl WeTaadt el

(4) X IEM aEF YEEAS fATaEEa FEE S e TNl HeeTHEed STl
S 2.

Which of the following recommendations of the Sarkaria Commission is not true ?

(1) It favoured implementation of the three - language formula.

(2) It favoured the abolition of All India Services.

(3) It turned down the demand for the abolition of the Governor.

(4) If favoured the consultation with state by centre before making a law on a subject of
the Concurrent List.

77. WU USH A 19 fafinss s Teudl B fraga 39 wedl Wy ¢
(1) e aefavars ™ e yer=n TSHHT 7El S,
(2) T T A T e A IS §IER @,
3y < FEgHa sd U wen AfeAin 2 Wel AR,
(4) Hog 9 frgsvw oed vwal Tig U fafuves aew fasns @eg Iad T,

A member of a Parliament or a State Legislature can be elected as a President but :
(1) he has to resign his seat before contesting the election.

(2)  he has to relinquish his seat as soon as he is elected.

(3) he has to relinquish his seat within a six months of his election.

(4) amember of Parliament can contest but a member of State Legislature cannot contest.
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78. TS e WA Fer foamd e
(a) TR frga TETdihsg el o
(b) TEIE TSI FTHERS U g SR WY Ugudi 7ol STHIEd § IgreR Ve,
() T HIEFTrE B ATE
(d) Tgudi=T Aeien AETEAd e ¢d e ATEL.

FUeTiRT Hiv/dt fasm/ 3 afiew SR/ ?
(1) () ¥ (b) (2)  (b), (c) ST (d)
(3) (a), {b) AW () (&) ww e

Consider the following statements regarding the Governor :
{a) The Governor is appointed by the President,

{b) The term of office for the Governor is five years but he holds office during the pleasure
of the President.

(¢} The Governor has no security of tenure.

{d} The matter of pleasure of the President can not be challenged in the court of law.
Which of the statement/s given above is/are correct ?

(1) (a) and (b} 2) (), () and (d)

(3)  (a). (b) and (c) {4y All of the above

79. Wrire faum fe=mad =
(a) TOTHY TETHl I Me! TEUE GURET YR fed! S
(by  STAIfwd YT IW dE TEIE A S
() AqRIfwd WA=l STHGL IE SO S99 faanal 49 .
FOATFHT BT fAum wwT Hea ?
(1) () 0 (b) (2)  (b) T (c) (3)  (a) = () (4)  (a), (b) AT (c)
Consider the following statements :
{a) Starred questions have to be answered orally on the floor of the House.
(b}  Unstarred questions are answered in the written form.
(¢} Answer to unstarred question is not followed by supplementary questions.

Which of the statements given above are correct 7
(1) (a) and (b) (2)  (b)and (c) {3} f{a) and {c} (4) (a), (b) and ()
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80. TrrEs sl UEEE THaEreT HeAHE SFH D0 GO v ?

(1) T FET FRER A aee TR,

(2) T APHEEE 9 AR,

3) T fafuream e o

(@) T ITTATET HIVRE WG = TN

Which is a correct description of the Comptroller and Auditor General's Constitutional
Position ?

(1) He is a member of the permanent executive.

(2) He is a member of the judiciary.

(3) He is a member of the legislature.

(4)

He is not a member of any governmental organ mentioned above.

81. TmERHT gt e fardt e ?

(1)
(2)
(3)
(4)

WAER AT 15% Haer e 100 HaER Artent o d@n FH 79 df
Wuﬁ?ﬁam%nﬂﬁmmowmﬁﬁﬁmaﬁmmﬂ
Heel FEe 10% "der a1 100 AdeK

maﬁ!ﬁam%wﬁmmm

What is the quorum for Gram Sabha ?

15% Voters or 100 voters from Voters List whichever number is less
20% Voters or 200 voters from Voters List whichever number is greater
10% Voters or 100 voters from Voters List

10% Voters or 50 voters from Voters List
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82, T TR T STATAEIGT THE Tl Uad THehg /Lo e S159% HIvl 8 7
(1) w0 fuA (2) TS FIA
(3) i T @) @ T

Who was the Chairman of Royal Deceniralisation Commission to study the Local Self
Government ?

(1) Lord Rippon (2) Lord Curzon
(3) Lord Hobhouse (4) Lord Mavo

i
!

83. {gd ATa®! {AHET=81 (@I HEHHER &S &l 4d
(1) 92 32 (2) FIB 226
(3) 32 amfor 226 (4) & T TR

Public Interest litigations can be filed under the following Article/Articles of the
Constitution :

(1) 32 only (2) 226 only
(3) 32 and 226 both (4) None of the above

84. UM HOTl TFRN Fh Y2 HIRT ?

(a) T (b) FawE

(c) W™ (1) TeHT
TiE] I

(1) K {a), (b), (c) (2)  wH (a), (b), (d)
(3) ¥ (a), (e}, (4) (4)  HH (D), (o), (d)
In which of the following places in Maharashira there are Cantonment Boards ?
(a} Kamptee {b}  Devlali

{c) Satara (d) Khadkee
Answer options :

(1) Only (a), (b), () (2)  Only {a), (b}, (&)
(3} Only (a), {c), (d) (4)  Only (b), (<), (d)
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85, WL YurHd OF AFES T AW .
(1) 1% 1960 (2) 17192
(3) 26 STHER! 1950 4) 26 FEaT 1949
Panchayat Raj System came into existence in Maharashtra from
(1) 1%t May 1960 (2) 1% May 1962
(3) 26 January 1950 (4) 26' November 1949
86, TTEH FEUER TR e HfGFes =7 AW TR 9iEe 79 w30 i
3.
(1) 31 feds (2) 28 SreEHl
(3) 317/ @ 1719w

According to Municipat Act budget of the Municipal Council is expected to be approved
by the Municipal Council before

(1) 315t December (2) 28t February
(3) 31 March (4) 1% April
87. HEMTUIo WEH Suel T TE F@L.
(1) TedtwE (2) 39 TEMNHS
(3) Tl WGl AAiEe (4) TRIVRUTET SATgFaHS

A member of the Municipal Corporation submits his/her resignation to the
(I) Mayor {2) Deputy Mayor

{3} Standing Committee Chairman (4} Municipal Commissioner
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88, T URW oIt Wear Rl g 2

(1) 1/10 9 2y 1/2 g%

(3) 1/3 U=H (4) 1/4 T

What is the quorum for the Municipal Council ?

{1) 1/10 members {2) 1/2 members

(3)  1/3 members (4) 1/4 members

89. WRRINTG I T @d TEOme HE Fmar NGOs (TR TN H92A1) SV 3ed ?

(a) ST (b) T
@ T (&) T
e T -

(1) R (@), (b), © @) (@), (b), (d)
() (@), () (d) @) ®) O, @

Which are the NGQOs (Non-Governmental Organisation) working in Urban Local Self
Government in Maharashtra ?

(a) Apnalaya (b) Mashal
(©) YUVA (d) Loksatta
Answer options :

(1)  Only (@), (). () (2} Only (a), (b), {d}

(3) Only {a), (c), (d) (4} Only (b), {9), (d)
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90, I WG Hieerrst SRE s GHTAITeTeR Tag steiear ofgen gemadien fadum
1y 1/2 (2) 1/3 @) 2/3 (4) 3/4

Support of at least ___of the members of the Panchayat Samiti is required to pass
a no-confidence motion against a woman chairman who is elected to that post which is
reserved for women.

(1) 1/2 2y 1/3 (3) 2/3 (4) 3/4

91. oo defusrarl &/ wma.
() WAL, fhan Tefaera=n waget froial fagsasmn aifaswi= A Hwr
(b) TTHATA A BIIEHT HEAE HIGE HI0L.
() Toramda Fasvm $rfar w9 g w30,
(d} TINER AT el GAEvh ST,

atE 3y
(1) T (@), (b), (0 (2) ®H (a), (b), (d)
(3) R (a), (o), (d) (4) da

Duties of District Magistrate are

{a) He hears appeals against the revenue decisions of the 5.0.0, or Tehsildar.
(b) He submits annual criminal report to government.

{) He controls and supervises the election work in the district.

{(d) He hears appeals of criminal cases.

Answer options :

(1) Only (a). (b), (¢) () Only (a), (b), (d)

(3) Only (a), (), (d) (4)  All the above
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92, AN FYT/FUA M@ :
(a) HeRTe T o EnTe ST 1994 WEA AT ST
(b) T=9 {99 A& SREHE 6 99 FE.
i 3
(1) H (@) TR, Fo (b) TH
(2) T (a) FIP, Fo7 (b) T
(3) TR (a) 3 (b) SR
(@) I B (@) IO (b) TR
Select the correct statement/statements :
(a) State Finance Commission of Maharashtra was established in 1994,
{b) The tenure of the State Finance Commission is of 6 years.
Answer options :
(1) Statement (a) correct, statement (b} incorrect
(2) Statement (a) incorrect, statement {b) correct
{3) Both the statements (a) and (b} are correct

(4) Both the statements (a) and (b) are incorrect

93. TEITRUIAFAE At A fpdl Tew Tiria ¥ W v 2
(1) 3= 2) 4 ¥_R® 3} 5 6T (4) 69gH
How many members can be nominated in a Municipal Corporation ?

(1) 3 members (2) 4 members {3) 5 members (4) 6 members
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94, WEEIR TN SV qSEAE Y=maq |fiw AT 2

(a) TR (b) TR () = (d)
watdt e

1) TR (), ) () () wH (), () ()

(3) T (a), (0), () @ ®F (b), (), (d)

Which of the following talukas in Maharashtra do not have a Panchayat Samiti ?
{a) Nagpur (b) Amravati {c} Thane (d) Pune
Answer options :

(1) Only (), (b). () (2)  Only (a}, (b), (d)

(3)  Only @), () (d) (4)  Only (b), (c), (d)

95. foreR qRug 9w Hear WA Segied A SHas fed aymee s 7

1 2 (2) 3 3) 4 4 3
The Social Welfare Committee of Zilla Parishad has atleast members belonging
to the scheduled tribes,
v 2 2} 3 (3) ¢ 4) 5
96. fasl Fon wifesdw wrRy, 1987 3@ W HiqiE T W e 3.
(1) T3 =aE (2) @ YEREE
(3) <] TEF A (4) 9% I_AT
The Legal Services Authorities Act, 1987 gives _ a statutory status.
{1) Grarm Nyavalaya (2) Khap Panchayat
(3) Fast Tract Cowrts (4) Lokadalat
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97. WIS v foarg Wolted AT Y@ AT 99 AR ?

(a) WRE HHR A0 S o amee faare

(b) IV TF oM TES e Ase (@) A

{(¢) 3 TRk ToH-derar faere

(d) TF Tohar afus 12 gmdfier oI faem

wiET I

(1) (a) 30001 ()

@ ) s ()

@) (2, (b) ST (d)

4) w4 f9oR gaiE e I8 S 99

Which of the following disputes do not fall within the original jurisdiction of the Supreme

Court ?

{a) Government of India V/s any cf the states of the union

(b} Dispute between state and citizen (private)

{c} Complaints regarding Interstate Watersupplies

{d) Dispute between two or more states

Answer options :

(1) (a) and {d}

{2) (b}and (g

(3)  (a), (b) and (d)

(4)  All fall within original jurisdiction of the Supreme Court
98, TIHYA & Hehed 1 FIYUH ISR 271 [EITHT 372 ;

(1) Zmacs fEmeA (2) S

(3) W (¢ faed
Which is the first country to adopt ombudsman concept ?
(1) United Kingdom {2) Canada

(3) France (4)  Sweden
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T AT AUGR HE WSO HIOKT 99 4d a2

(1) @ TR SAEHSavHId! 39/ WHRY ®Igol. (Issue writ)

(2) TN IR TqEI9 YRS FEAH AR FIE. ([ssue writ)

(3) TR FeAeN HATESAUNHE AR (writ) FE.

(4) TENs Fr fesem iR 9ve e F:e4 ot 2,

Which of the following doees not fall within the powers of the High Court ?

(1) Issue writs for enforcement of Fundamental Rights.

(2) Issue writs for enforcement of non - fundamental Rights.
3
(

) Issue writs for enforcement of fundamental duties.
4) Entertain appeals arising out of the decisions of the lower courts.

100. % /oFEn TR TR, MR WEYREE SEe, 1988 ST Siwqe @ Sege FEg, 2013

I THAU G|l GAETT § farea i e IR iy ~mareaid T #% W ?
(1) IrgTE (2)  awuE

(3) wEI\ AHEE WEEYY (4) -drETm

On whose recommendations the Central Government can constitute special courts to hear
and decide the cases arising out of the Prevention of Corruption Act, 1988 and the Lokpal
and Lakayukta Act, 2013 ?

(1) DPresident {2}  Prime Minister
(3)  Chief Justice of Supreme Court (4) Lokpal

-o0o0-
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el — (7 1 967 Qe.... )

®) wrTgfaEned fafed somn faftme Irie $= & (TF 54) F06.  Tqfadeafifian Tarafaa &
TR HIEEL FH HH A J BU FOAHT FLIH HI AR, W AFS TS 9 ATGEN SHIRTR
wrE S e ¢ adeined S g YiaEy FvaEeEs Aiufem-g2 wRie WEETER $RaE
FIU AIG T QN AK HHIS Tk AU HEHTS AV THAT T98 U TR @HS e ey
KlER

(9) WX yePIEEEt A fafer FOF 97 ST AR @ TRAYREET T atet TR
U vAE TEET AR, WIE GO HETETe WUATE] IHEany 3edT SEGehEr W1
AHAYFHTHS 7 famar uig FT Savas g,

§. s, 201

. . 201.

T 9
T IS TR FIOAEET BV JE&q: T h0 2
() T T e @) YT TR
(3) T T Y (4)  TIUTHE TGS
ISR A7g I (3) T TR T A AR, @ 1 3EE SR O3 IR, awE
WA T F. 201 Wike FT-FHw (@)’ T a@ i smifEs e g

ONEN NC

I TEAA FEGE WAYRfE Teleh FIART qHE SORAIE € TR TR el Qe
AWl o @ THESETEEHE dH6iud adz quivd SEifed ®67 rEaEn  greiar
a3 FTeTl WS Fous arowd, Uias ar snds 4 anees 9.
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